Downloaded From: http://www.sscportal.in

PART - A
GENERAL INTELLIGENCE & REASONING

If MEKLF is coded as 91782 and
LLLJK as 88867, then how can IGHED

be cadt_:d 2

(A) 97854 (B) 64521
(C) 53410 (D) 75632
Two statements are given below

followed by four alternative inferences.
Select the one which 1s most appropriate.
Stﬂementq (i) AI] radios sold in that
o shop of high
standard.

arc

(ii) Sone of Murphy Iﬂdﬂ)'-
are sold in that shop.

Inferences : _

. All radios of gh standard 415.5.1_1
manufactured by [‘-{[tlﬁéﬁ;}
COINPaIY.

2. Some of the Mumhg ;afi‘ms arc of
high standard. Ny

3. None of the Mﬁrp!y radios. is of
high standard.

4. Some of the Murphy radios of
high standard are sold in that
shop. _

(A) I and 2 inferences only gy &

(B) Zan{]tlinl"crenccs_only-'_ |

©

(D) !l and < inferences only

‘I'and '3 inferences only

Directions :  In Question Naos. 3 and 4,
select the missing number
from the given responses :

5 '

713 2

L 4 1 9| 6

e ? |1 5

69 | 91 |47
(A) 58 @B] 51
(C) 65 , (D) 64

4.

o ° Ty 343 (B) 512
W © 9 (D) 1000

5. The population of rats is increasing
year after year in a village. Find out the
nussing population from the followmng

information :

Years 1990 1991 1992 1993 1994 1993
Population 4 3+ 16 7 44
(A) 22 (B) 32
(C)- 28 (D) 34
6. If — stands for division, + [for

multiplication, + for subtraction and X
for addition, then which one of the
following equatigns is correct ?
(A) 19+5-4%2=4=1]

. AB) 19 %5 4 2+4—- I6
(C) 19« S-HL 2x4-i3
(D) 19=5+4¥2:2520

SPACE FOR ROUGH WORK
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Directions : In Question Nos. 7 to 15, select 14, 7:63::08:26
the related letter/'word/number A) 12 (B) 9
from the given alteratives. © 18 lD »
7. Country : President : : State : 7 : (D) 15
(A) Chief Minister
(B) Prime Minister 15, 64:9::72:53
(C } Speaker . (A) 44 (B) 54
(I ) Governor \ ) 52 ) 70
i | KY
B MBS Directions : . InQuestiog Nos. 16 to 21, find
(A) 8-]",”[”“““” the fodd  numberletieis/
(B) Rainbow : Sky m;mbex pair From the given
(C) Rain; Rainbow @,&Mﬁhws
(D) Image : Mirror .
. § |
A—— X vﬁi Softball  (B) Bse bal
EKCAR : s 1BO: 1 iy .
T - 3 Fa : : ‘
(A) TCEOBJ  (B) OBIJECT ) C) Ciicket - (D) Basket bal
(C) CEIBOT (D) REWEET o I/
. _ f"}% 17. (A) Annoy (B) Distress
10.  JIHK : PONQ: “WVUASE '*':.%’i (C) Harass (D) Ravage
(A) KNMLT . (B) RS : :
(C) HIGS D) ;’\jﬁﬁkﬂ 18. (A) PRSU——(By SUWY
e UUWX:WWYZ “%:)R 2 {(C) HILN (D) CEGI
(A) OOPG (B) MMPQ '
(C) XXYZ - (D) QQST 19. (A) YDWB (B) TKRI
~ -{(C) QNOM. (D) HLF)
12, BIMN:CKPR::CURD:? '
(A) DWUH ° (B) WUHC _ o
(C) UHDW (D) HUVN 20. .(A) Tomao  (B) Potato
: (C) - Carrot (D) Onion
i3, BCFE:HILK::NORQ:? LR K
(AL TXWY o (B).. TXUW' L (AT RSL (B) T8
O TUXW T (D) “TUWX COTEE Ty
: SP!‘LCEFDRRGUGHWD:&K-I-': -
% =
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: !
Find out the pair of numbers that does Directions :  In Question Nos. 27 to 30, a
not belong to -the group for lack of series is given, with one/two.
SOIMMON property. term missing. Choose the
{A) 16— (B) 56-63 correct alternative  from the
(C) 9-108 (D) 86-99 given ones that will complete
. the series.
In the following question, number of | 27. 14;19,29,49,89, .2
letle_rs Iare jkipﬁd' :]n fbc;wcfe;:l 'h){ a (A) 139 % (B) 149
particular rule. Which ot the following
ohserves the rule ? & 1= @) lo8
(A) ACZXFG (B) CFXURI
{C) CFIURX (D) CXFUIR 28. BMRG, DLTE, FK"."FA?&{D ?
(A) TZC "(Bg 1ZIB
Which one of the piven responses” € GiFs fﬁ) MOLC
~would be a meaningful order of the |
following 7 g
Sentence 2. Word AW Jgf’?}% %000, 1
3 Chaptes . - 4. Phrase (B) 841
5. Paragraph @ 900 D) 729
() 43,125 BB AR Q
Q) 3.5, L,4,2 K W3l 4l C 0. 5,21,69,213,645, 2
" - I o (A) 1670 (B) 1941
range- the following words da;_. per (C)--720 (D) 1320
order in the dietionary; q._r"
i lnohabit 7. J@@i‘t}us . ;
3. Inherit | w-Q‘gnﬁuence 31. Find out the questioned number.
5. Infatuation < et B
(A) 1,2,3,4, "‘*véﬁ) 54,123 (A) 2 B) 4
(C) 4,52,1,3 (D) 44 1,3 © 6 (D) 10
Which one set of . letters ~when | :
sequentially placed al the gaps in- the H_' e Dfﬂfﬁes’: Biman "?l-h:'fn:’m ol
piven lettér sefics shall-complete it ? +end and 147 from the right ET HDW. :
@b b_;a'ija_' abab | ! many trées are there in the row
_(a) abbaa . (B)bbaabi W n o (B) l-9
(C) abaab {D) ‘aaaba EC) 20 S (2) A
SPACE FOR ROUGH WORK‘
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Shaiy is 55 years old, Sathian is 5 years | 36, If John celebrated his victory day on
junior to Shan and 6 years' senior to Tuesday, 5" Ja'_nuary 1965, when will
Balan. The youngest brother of Balan is he celebrate his next victory day on the.
Devan and he is 7 years junior to him. same day ?
g{; :::s:ﬂ :Is Sl::::fc' difference between ) S'h'lamlar}* 1970
o (B) 5" January 1971
{z\k)’" 18 years
i (C) 5" January 1973
yéars '
: (D) 5" Janvary 1974
©) I3years ' Cﬁ*
(_i?l Tyears 31, Five Sgirs MAN, 0, P and @ are
SH[]dll%ﬁ\@,mw P is on the right of Q.
34 Vinod introduces Vishal as the son of :u e fefl of Q, but s on the right
" the only brother of his father’s wile, - Pts on Bhe ek of 0. Who #
How s Vinod related to Vishal ? Q [an-:llng an e xleeate right ?
, i \
{A) Cousin (B, Brother :'SJ W (B) N
- (C) 0O ) P
(€) Son ) Um!\:;{? W
o »% 38. Sita is elder than Swapna. Lavanya is
35. Icrc.'are 80 fﬁl‘{;? L small- clder than Swapna bul younger than
CX“i“.‘SW“ ﬂfﬂﬂ-@ cent ‘of these Sita. Suvarna is younger than both Hari
families own a car each: 50 per cent of and Swapna, Swapna is elder than Hari.
the remaining families- own a motor - Who is the younges! ? .
cycle each, How many fgmi!ies in that ( A} Sita Ey
extension do not own any vehicle ? !
. Dt - (B) Lavanya N
(A) .30 (E}~12 ©). Suvarm r
© Ay :"'"(D)’ 39“' e {D) Han ‘ ‘ Ll
SFACE FOR ROUGH WORK '
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Alfier 9°0 clock at what time between
9 pmand 10 pm. will the hour and
minute hands of a clock poimt in

apposite direction ?
(A)
()

|5 minutes past 9

16 minutes past 9

ik
(€)  16y; minutes, past 3

(i 1 Iﬁ minutes past 9

One evening, Raja starled lo walk
toward the Sun. After waiking o while.
he turned to his right and aguiq {0 s
right. After walking a while, he again
turned nght.
facing ?

() Skl
() West

B T;;'?Q
m

Vivek and start from a fixed
point. Vivek moves 3 km north and
(s right and then covers 4 km, Ashok
moves 5 km west and tumns right and

walks 3 km. “Now how far are they -

In whieh ¢ that"m s h{Q

42

From the given alternative words, select
the word which cannot be [ormed
using the letters of the given word -

MISFORTUNE
__(A) FORT (B) TURM
(C) SOFT (D) ROAM

43.

; the wofﬁ"wﬁ"
lhti&liers nf iven word :

o‘i‘?

From the given al words, select

be formed using

ATION

IANGLE
GARLAND
(C) ROASTING

(D)

TRAUMA

If in a certain code, RAMAYANA 15
wiitten as PYKYWYLY, then how
MAHABHARATA can be written in
that code 7

(A) NBIBCIBSBUB
®) LZGZAGIQISZ.

ﬁparl'? &
(8 ,C,km"-’- {B) 9kn. ‘--..--,-__-{CJ MCJC‘DJCTCVC
- skm' o 6km Ty K?FY‘ZHPYR?
SPACE FOR ROUGH WORK B
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45. Some equations have been solved on
the basis of certain system. Find the
correct answer for the unsolved
equation on that basis.

If 94 + 16 = 42, 89 + 23 = 7§, then
63+45=7

(A) 18 B) 28
(C) 38 D) 48

46.  Which one of the following diagrams
represents  the - correct  relationship
among ‘Judge’, “Thief” and-*Criminal’ ?

A) @ (B) QO)

O

————— -‘.\h__l.l
i T

=Y a
,IJ. %

47, How many Uhll"li_,t‘.:y, 3[{:, “there in the

piven figure 7 %
v N B
C D'
©A)Y 16 B}

I S

o uf?-'-'f'._a.;..'._r_‘;_:f.:_

(C) © ) . .

Directions :

R

Directions :  From the given answer figures,

sclﬁcl_ the one in which the
question figure is hidden/
embedded.

43.  Question figure

&

Answer figures
!

0|

@ B ©Cn O
Directions : If 2 mirroris, p]ﬁced on the line
MN, Lherrwﬁmh of the answer
Tlgurl:!l is the right image of the .
glvenf gure ? '

49, Quqaﬁ&n,ﬂgure

KiE)

~ Answer figures

A piece of paper is lolded and
il as shown below in the
question figures. From the given
answer figures, indicate how it
will appear when opened.

50.  Question ficures

Answer fipures
/Iﬂ_\ 0 m/w\
E’M h__

e Dy

P, | ™

0 of._\au“'
LAY m; SR

SPACE FOR RQUGH WORK
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FOR VISUALLY HANDICAPPED
CANDIDATES ONLY

Sudha is arranging 45 blocks in an
ascending order from bottom to top.
The ‘no. of blocks in every row is
divisible by 3. The_minimum no. of
blocks is at the,f6p. The no. of blocks in
the 5" row from the top will be

() 9
(B) 18
© 12
(D) 15

A five member rescarch group 18

* chosen from Mathematicians A, B, C {

and D and Physicists T, G and H. %
least 3 Mathematicians must be iQi

group. However,

¢ Avefuses o Work withE

. B reluses to wa K
k with G

e Drefuses to work withF

. I refuses

If B is chosen, who else would have to
be in the group ?

() €

® D

O i
) G

48. Suppose a tree has 20 branches. Each
branch has 5 sub-branches. Each sub-
branch has 15 leaves. But in five sub-
branches leaves were falling at the rate
of 5 leaves for a sub-branch. 10 sub-
branches were cut off due to weather

condition. How many leaves were there

in the tree right now ?
(A) 1300 (B) 1325
(©) 1375 350

O

49, Select the'letteds that- complete the first
#ﬁfﬂﬂ%gﬁ the second from the
jven afternatives :

Of%t 7 JION

" A) 1L
) (A)
(B3) ISE
(€) ON
(D) INDICE

Three bells toll at intervals of 9, 12 and
I5 minutes respectively. All the bells
begin to toll at 8.00 a.m. At what time
will they first toll together again 7

(A) 8.45am.
(B) 1030am,
(C) 11.00am.

50.

SPACE FOR ROUGH WORK
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PART - B

GENERAL AWARENESS

The common lree species in Nilgiri
hills is

(A) Sal

(C) Eucalypuis

(B) Pine
(D) Teak

Which of the following statements on
Railway Budget for 2011-12 s
correct 7

(A) There would be 10% increase.in
farcs for long distance train travel
both by airconditioned and non-
airconditioned classes.

There would be 15% increase in
freight rtes on all goods oihcr
than loodgrains.

There would be 15% increase in
passenger fares for all classes for
long distance travel as well as in
freiphts,

There would be no increase n
Fares for both suburbnn and long
distance train trave!.

(1)

(€3

()

The  nuclear reaciors  which
damaged heavily  dug to a g
Harthquake-ewn-Tsunami ihaw@ﬁpan
on March 11, 2011 ca radiation
leakage were at 3

(A) Fukushima c“-\&
(B) Kyoto
(C) Tokyo )
(DD} - None of the above

Tl waximum limit on poll expenditire
for- Agsembly Constituencies” has been”

tuised in February, 2011 to
(A) 16lakhs - (B) 18 lakhs
(C) 20 lakhs (D) . 25 lakhs

First-AIndiama Prime Minister to visit
Siachien has been

(A)  Rajnv Gandhi

(B)  Inder Kumar Gujoral
()  Man Mohan Singh
(9 Noneof the-above

i

16

oS

56.

5.

58.

59.

60.

_61.

- =10
- (D)

Which of the following books has been
written by Kishwar Desai ?

(A) The Red Devil

(B) Witness the Night

(C) -Tonight This Savage Rite

(D) Earth and Ashes

Which of the [following folk/tribal
dances is associated with Karnataka ?

(A) Yakshagana (B) Veedhi
(€) Jatra (1) _Jhora
Who of the follow ived Sangeet
Natak Akademi’s:_Ustad  Bismillah
Khiin Yuva ﬁmmu for 2009, In
'Iheatrc?

(ﬂ} 0%5? hrlk'!nl Dadarkar
‘ m Chander Sarkar

.‘\banu Chakravorty &
Sukracharya Rabha

(1) K. Nellai Manikandan

Which of the following countries did
not win any of the “FIFA World Cup”
in 2002, 2006 & 2010 2

(A) Drazil

(B) Argentina

(C) Spain

(D) South Africa

Who invented vaccination “for ‘Small_
Pox*?7

(A) Sir Fredrick Grant Bsmlmg

(B) Sir Alexander FF lmeg

(C) Edward Jenner

(D) Louis Pasteur

Who was the first Indian to beceme
member of British Parliament 7
(A) Bankim Chander Chatterjee

(B) _W.C.Bamnnerjee
Dadabhai Naoroji

None of the above

BF 2011
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63. 1T sced is assocjated with
() Rice
(B)" Wheat
(Cy Cotton
(i1 Oil seeds
64, The 'rl&adqua&ers‘ of ]ntemanunal -
Atomic Energy Agency is in
(A) Geneva
(B) Paris
(()  Vienna
(in  Washinglon
65.  In the Budget Estimates for 2011 ]'E_‘;ili}s
allocation of 7 400 orore has beéy made
o bring In a green rE-VOB,llICFﬂ“IH the
East in the rlce-bascd cg"qpﬂmg system
of
(A) mﬂm&w%ﬁWQMMy
(B) Assam, %t Bengal, Orissa &
Bihar only
(Cy Assam, West Bengal, Orissa,
=S Bihar & Jharkhand only
: '__':--{I}}_._,Assam Wﬂsl Bengal,. Onssa_. _
“ " 'dihar, Tharkhand, Eastern Ultar
. Pradesh & Chhatisgarh
66, In the Budget for 2011-12 presented by
the Finance Minister an-28-2-2011, the
income-tax exemption limit for senior |
citizens {60 years to less than 80 ycars}
nas been increased to
{A) ¥2.50lakh (B) T 2.60lakh-
(C) ¥2.80Mkh "(D) Z3.00fakh’
873 0K £ S T R

02.
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The purchase of shares and bonds of
Indian  companies by  Foreign
institutional-Investors is called

(A) Foreign Direct Investment
{B3) Portfolio Investment
(C) NRI Investment

—— (D) Foreign Indirect Investment

.13

- Fp.'
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67.

68.

If the Anglo-Indian community does
not gel adequate representation in the
Lok Sabha, two members of the
community can be nominated by the

)

Prime Minister

(B) President
_(C) Speaker
(1)) President in consultation wnh the

Parliament

For the election-of President of Indh a
citizen should have cn;pplcted the age

of . \‘.'] k
F =
(B). 7% years = E-..EB) 30 years
(G} 35yearsth (D) 18 years

69. W, ﬁ;f “A pood citizen makes a

,“ - (A}

7k

70.

1.

T2,

A,

{"' 1 “State and a bad citizen makes a

d State™ ?
Plato [ousseau

(C)  Aristotle

(13)
(D)

Laski

A member of Parliament will jose his
membership of Parliament if he is
continuously absent from Sessions for

{A) 45 days- (B) 60 days
(C) "90 days (D) 365 days

In India, the Residuary Powers are
vested with e <
Umon Government

B) State Government

(C) 'Both the Union Government and
the State Government

(D) Local Government

Mention the place where Buddha

attained enlightenment.
(A} Samath (B). Bodh Gaya
(<) (D} I{ yjuriha

LT T T B il

Kapilavasiu
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5.

6.

4.

79,

(A)  Emu !
(B)  Ostrich AT
(C)  Albatross ' &
(D)  Siberian Cranc -~ N .
Rihand Dam Projeclr,pta‘;ﬁes irrigation
o i
(A)  Guarat aqg.jﬂahamsh!ra

{B) Orissaand West Bengal

{C} Uttar Pradesh and Bihar. -,
{D)  Kerala and Karnataka |
The Headquarters of MCF (Master

. Control Facility) — the nerve centre of

Downloaded From: http://www.sscportal.in

Coronation of Shivaji took place in
(A) 1627 AD. (B) 1674 AD.
() 16RO AD. (D) 1670 AD

Ihe System of Dryarchy was introduced
in India in
(A) 1909
(<) 1919

1935
1945

(B)
(D)
The Editor _of ‘Young India’ and
‘Harijan’ was

(A) Nehru

(B) Ambedkar

(C)  Mahatma Gandhi

(D) Subash Chandra Bose . .

Who of the: following attended all the
Three Round Table Conferences 7

(A) B.R. Ambedkar

(13) MM Malavia

() Vallabhbhai Patel

{10y Gandhiji .

Which is the largest living bird on
Farth ?

the entire space craft operations-in -
india is at

{AYy Hyderabad -~  Andhra Pradesh
{8) Thumba - Kerala

() Sriharikota -  Andhra Pradesh
(D} Hassan —  Karnataka

3K

S

y \'1

0

80. Which is the longest nirigation canal in
India ?
(A)  Sirhind Canal
(B) Yamuna Canal
(C) IndiraGandhi Canal

(D) East Kosi Canal

81.. Which one of the following minerals is
found in Monazite sand ?
{A) Potassium
(B) Uranium
(C) Thorium
(D) Sodium

82. In conandcr, I,he useful gg}ts are

" UA) mot&& Iéav% ‘2 )
(B) [Savs &ﬂm\“vﬁ{
() leaves & teid fruits
(1) ﬂ(}'&qrw& dried fruits

e {, a, =
e cf‘if plant i5 called “Herbal Indian
(WPector’ ?
O WA) Amla (B) Muango

(C) MNeem (D} Tulsi

84.  The pH of human blood is
(A) 7.2 B): 7.8 :
() 6.6 (D) 74

85.  Which amongst the following, is largest

endocrine’ ghnd in-the budy L
(B Thyroid - . aers i b
(B) Parathyroid -

(C)  Adrenal

(D) Pituitary

'--*‘-:3'{3. Which amongst the following is the

largest mammal ?

(A) Elephant
(B) Whale -
) 'Dinc-:-;aur
{I)) : unmems . -

BF 2011
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Which part becomes modified as the
tusk of elephant 7

(A) Canine

(B) Premolar

(C) Second incisor

(D) Molar

a7

88. Optical fibres are based on the
phenomenon of
{A) Interference
(B) Dispersion
(C) Diffraction
(1) Total Internal- Reflection
89, MNow-a-days ycllnw: _ lamps  are
frequently” used as street lights. Which

of the following gases is used in these.

lamps ?

(A) Sodium
{B) .Meon

() Hydrogen

A1) Mitrogen

00,  ‘Mirage’ is an example of
(A) refraction of light ouly
(B) total internal reNeetion of llg,@,=I
anly %
(C) refraction  awnd tmal u‘_‘% al
reflection of light
(D) dispersion of light,
"’%._1""
91. The phenomer ‘ﬁf light associated
with thie appearance of blue colour of |
the sky is i
(A) Interference..
(B) Reflection
(C) Refraction
(D) Scatlering
92. In which of the following areas, a
spreadsheel software is more useful 7
(A) Psychology
(BY Publishing
(C) . Statistics
(D) Message sending
873 QK 6

| 99,
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i

93. A Group Ware is a
(A) Hardware (B) Network
(C)  Software (D) Firmware
94. Lens is made up of
(A) Pyrex glass
(B) Flint glass
(C) Ordinary glass
(D) Cobalt glass
95. The element which is used for
" vulcamzing rubber
(A)  Sulphur
(B) Bromine
(C) Silicon
(D) Phesptiorus
. 96.  Which of lhe fol

L@T‘ig Is responsible
for Mhe.cxlra st f pyrex glass 7
(A)  Potassiu «@arhmnu.

:f};!) 1 ﬁ&@ﬁda
{C), l%‘«'m

@ erric Oxide

e;g"e he noble gas used for the treatment of
chncer !S 2

(A) Helium (B) Argon
(C) Krypton (I Radon
98. Vasundhara Surmimit was held in
(A) USA
(B) UK,
(C) Brazil
(D) Australia

‘Loktak® isa
“(A)" Valley
(B) Lake
(C) River
(D) Mountain Range
Whitcli city receives the highest cosmic
radiation amongs! the following 7
(A) Chennai
(B)  Mumbai
(C) Kolkata
(D) Delhi

100,
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PART -C
NUMERICAL APTITUDE

X sells two articles for T 4,000 each
with no loss and no gain in the
interaction. If one was sold at a gain of

25% the other is sold at a loss of

: 2
(A) 25% (B) I8‘§f&
© 16% , ©).20%

20% oss on selling price is what
percent toss on the cost price ?

107.

108.

b
Walking at ?th ol his usual speed a man

15 25 miinutes-loo late. His usual ime 0
cover this distance is

(A) 2 howrs30 minutes

(B)Y 2 Hours 15 minutes

(C) 2 hours 25 minutes

(D) 2 howrs 10 minutes

Walking at 5 knv/lir agstudent reaches
his school from hig_kpuse 15 minutes

2 , carly and walki %ltﬁ"kmfhr he is late
) 23‘;{; J(B} !5;’3 by 9 mmutcsa.n%n’hal is the distance
S 1629 Dy 16= ¥ between his school and his house ?
& 3r i (A) 5 & (B) 8km
IF00% of A = 30% ol B :md B3 = x% of (C)ﬁrg (D) 2km
lue of : : .
E;;m;nhhcvn xEE}] 00) 4 1[}9 ,Q:wm of ¥ 12.000 deposited al
(C) 700 (D) 460 . \ {;bmpmmd mterest  hecomes  double
. ; 5 _Ef Fafter 5 yewrs. After 20 years, it will
104, A reduction of 20% in the priceolsugar amq % hecome
enables me to purehase 5 ko more [gm (A) % 48,000 (B) 796000
¢ 600. Find the pnu: of sugar ﬁwﬁg ot G DR
before reductionof price. \ (€) T1,90,000 (D) T 1.92.000
(A) T24 (B) 3 ’G"c- ¥ 110. Simple intercsi on a certam sum for 6
i s iﬂéG o ful H e ol
CAlS 15 o e _ rorale ‘
105. The price of a cnmnmq};i}r‘ﬁc‘; from?6— JEArs 159 ob the sum. T '
per kg to 7 'Ljff‘@er kg If the interest is
expenditure ot increase, the |
perLntagL of ledu-::lson 1n consumption (A) 6% [ﬂ} ():)'%
A} 15 (B) 20 S 1
() 25 D) 30 ' (C) 8% (D) 8%
106. First and second numbers are Jess thana | 131 _The {llfﬁ:rence between the compound S
third number by - 30% and . 37% interest ‘and simple interest for the .-
respectively. The seconid number i is less amount ¥ 5.000.in 2 years is T 32, ’Ihe;
than.the first by o s ook e, IS ofmtercsi is.
AR e (B) A% S T () ST (1) B
, (©) 3% (D) 10% , (©)* m% DDy 12%
SPACE FORROUGH WORK - - -
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112.

(A) 50 B) ¢
(C) 60 D) 5
43+
1g3. AF M = a + o, then the
/48 +4/18
values of a and b are respcctivcly
9 4 4
(A) 15775 (B) r133
9 2 . 34
©) 193 D) ¢1s
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I'he least number, which is lo be added
to the greatest number of 4 digits so that
the sum may be divisible by 345,15

116. The unit digit in the sum of (124)372 +

(124473 s
(A) 5 (B) 4
O 2 (D) 0
117, Thevatw::uf3+\r 3‘“!. \}_ :
is
(A) 1+43 @@ 3
W
.."(C} G (D) 0
3. If"a’gQZ ; ,llhen the valus of 5 * 3'is
(@) 125 (B) 243
QQC) 53 D) 15

L4, 161779 is divided by 18 the remamd% ,
is r{? 119, If -l — 5x = .04y, then the value of
WD 2o
(A) ] T Py 15
(C) 16 @i&% 730 7
% C 73 D 74
15 Ifx+ = 10, then thevahlc of x —— (©) 770 (D) T
Ja—- :
s+§
" 120. If [][}3xD3>Ca—U3xD3><xh-}
4y, 12?6 value af b 5
(A) ]35 _ (B) . R
(L) 435 (D) 9 (©) 0.09 (D) 0:08
SPACE FOR ROUGH WORK o
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122.

i25.
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then the value of x is

i1 HE=2
5"

439
(A) ls—' (B) 160
1443 :
(C) 9 (D) 169

Ihe sum of wo numbers is 24 and their
product is 143. The sum of their squares
(1

(A) 296
(€ 290

(B) 295
(D) 228

3. Which one of the following will

completely divide 57! + 572 + 559

(A) 150 (B) 160
() 155 (12) 30
4. 1.C.M. of two :mmbe:r‘s'-.-i:S i their

ILCF. is 10. Which of \tivel following
can be the sum ul‘thn&%ﬁ numbers ?
(A} 140 %) 50
(C) 60 - (D) 70

When
remainder is 2

‘n* s divisible by-5 the
. ‘What is the remainder
when n? is dawdﬁd b}' 5 '?

A) 2

Q1 (D] -4

133 3.__ By

CQ

128.

126.

127.

129.

A student was asked to divide a number
by 6 and add 12 to the quotient. He,
however, first added 12 to the number
and then divided it by 6, getting 112 as
the answer. The correct answer should.
have been

(A) 124 {B)
(€ 18 ujf)) 114

Four mnners  stargd  running
simultaneously  from %’point on a
circular track. They Ytook 200 sec,
300 seey 360 fseq and 450 sec to .
complete o &rqund After how much

time do WEE[ at the starting point
for lh@{ time ?

800 seconds

(é} 3600 seconds

(C) 2400 seconds
(D) 4800 scconds

“x" number of men can [inish a pmcc ol
work in 30 days. If there were 6 men

‘more, the work could be finished in 10

days less. The original number of men
18

(A) 6
(€) 12

(B) 10
(D)

- A work can be completed by P and Q' in
“12 days, Q and R in 15 days, Rand P in
© 220 days. In haw many days P alon& can

fmsh tht wa:rrk T
a7 I-D i+ (Y 20
(€) 30 (D) 60

SPACE FOR ROUGH WORK

¢
b1 .
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130, A s thrice as good a workmanas B and | 134. The wheel of a motor car makes 1000

139,

140.

141,

147,

The average of

[he ratio of the quantities of an acid
and water in amixture is 1 : 3. If 5 litres
of acid is further added to the mixture,
the new ratio becomes | : 2. The
quantity of new mixture in litres is

) 3 B) 40
() 42 (D) 45

The ratio between two numbers is 2 : 3.
If each number is increased by 4, the
ratio between them becomes 5 : 7. The
difference between the numbers 1s

(A) 8 (B) 6
() 4 (D) 2

Monthly incomes of A and B are in ‘the
ratio of 4 : 3 and their c:_xpzm.f_i&s bear the
ratio 3 + 2. Each of them saves ¥ 6,000
al the end of the month wihen the

() 30,000 (b&%ﬁmﬂbﬂ
K\

consecutive odd
numbers is 12 more than one third of
the first of these numbers. What is the

last of the three numbers 7.

O

monthly income of'}h 18 *‘ﬂ
(A) 712,000 _ga,ulg@%

143. The average of 18 observations is
recorded as 124. Later it was found that
two observations with values 64 and 28
were enlered wrongly as 46 and $2.
Find the correct average of the 18

observations.
7
(A) Mg (B) 122
— .-'—'—‘ 2 = ¥
3
(€ 123 (D) 137,

icles is equal to
articles; find gain %.
®) 25

(D) 21 -

@IS’. The cost price of an article is 64% of
the marked price. The gain percentage
after allowing a discount of 12% on the
marked price is
(A) 37.5%
(C) 50.5%

(B) 48%
D) 52%

A man purchased some eggs at 3 for T3
and sold them at 5 for ¥ 12. Thus he

146.

! (A) 15 gained T 143 in all. The number of eggs
(B) 17 he bought is
@B, sy | owoao @ a0
SPACE FOR ROUGH WORK
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The following graph shows the production of
cotton bales of 100 kg each in lakhs by
different states A, B, C, D and E over the years.
Study the praph and answer Questions Nos.
147 1o 154.

17

£ :
:;f’ = ¥ [ 2on-zums
- | )
Pn 313y % s
o £
it v [ v

Ry

E r; ] é 5 E __... i
E i g ﬁj ; F- £
Bwiasl | R | |G
= A L] I i 5

Notes

{47, The production of State € in 20032004

is how many times its pmductmn m -

2005-2006.
(A) 25 (B) 125
(C) 1.5 (D) 04

increase in e production. o
thuring the given penod
(A Aandb (13) B }ﬁ
(C) Aandl m’§§;a E
149, How many kg of cot s produced
by State C during @Mﬂ period 7
(A) }2,00,00%33
(B) 42,50,00

(C) 33,00,00000 kg
(D) 35,00,00,000 kg

150. The number of States for which the
production of cotton in 2005-06 is less
than or equal o the preceding year is
(A} 3 :

(B 2
(C) 1 L
(1) There is no such State

Cn
o

(For Visually Handicapped (V)
Candidates Only)

147. The HCF of two numbers is 11 anmd

148,

q
AT

148 In which State(s) 18 ‘e g Steag é;’

‘their LCM is “7700. 1f, one of the

numbers 15275, then the other is

(A 219 __ (B) 283
-~ ; 2

(C) 308 (Dy 318

twice that of the

Radiis of a eylind Ef u:e that of a

cone. Height of
cylinder, Ral{ﬂ;f the volume of

-.c,ylmder |Q$lt“‘f)l the cone is

N}?’ (B 133

(D) 1:6

P and (3 share profits in the ratio $.: 3. P
L
qurmnderx of hts share and Q of hig

share n fﬁ‘mur of R - a new pﬂrlner.
The new profit sharing satio of P, Q and R is

(A) T:1:1 (B) 1:2:1
Gy 2t ;1 () I:]:2

. A man walks 2000 m in 30 mmutes

1500 m in 46 minutes and 500 m’in 10
minutes. Then lis average speed for the
whole journey in m/min is

@ s (B) 60.5

Ty D) 515

{

L

SPACE FOR ROUGH WORK
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PART — D
ENGLISH COMPREHENSION

Directions :  In Question Nos. 151 to 155,
groups.. of four words are
piven. In each group, one
word is correctly spelt. Find
the correctly spelt word and
mark your answer in the
Amswer Sheet.

51. (A) gestalt " (B) imbrolios

(C) ampasse (D) recondite
152. (A) hindrance
(B) corespndence
(C) insurence
(D) assurence

153. (A) adversery  (B) adultary
(C) advisory (D) arbitary

154, (A)  rogeu (B) colleague

- — {3 —diuge— — (D) alege

155, (A) malignant  (B) impertinant
(C) independant (D) neplegent

55

Directions :
to 165), some of ﬂﬁk}'ordt:
have been -left m&@fﬂsl read

the passage gver-and ‘ry -to
understand, 3 it is about.
- “Then filkjn'the blanks with the -

help of the altemnatives given.: |
Mark  your” answer“in’ the

Answer-Sheet,

PASSAGE (Q. Nos, 156 - 165)

Almost every full moon night, the
officials m Andaman and WNicobar Islands
take part in a cautious ritual. The tribesmen
walch from a safe distance as the olficials

156 the island in a boat 157 _ gifis for
* them. The islanders come 138 hesitantly

BE 2011

[n the following |::-s;tssagé;‘l’:wa‘:;;l

l:>JI

160

beach and begin _161 away from their

small §sland. On some nights the tribals even
162

only after the officials dumped the

coconuts  brought them onto the

up enough “courage lo swim upto

few feet 163 from the boat. The officials

that lh_ey} do * 164 want
interfere with the way of life of the wibals.

165

maintain 10

The i‘;land
for most g,ouds

heavily on the smmldml

: g&k

} (B)

156. (A): a_ppmach
() PfESﬁ.ﬂt

deparl
absent

157, "(A) coming |

leaving

(fj Cel[%ﬁﬂ (D) relieving
158 (&Y [gl[nfward (B)' hackward
E:} * sides (D} upward.
] %*) (A) has (B) have
b (C) had (D) be
160. (A) by (B) to
(C) (D) for
161. (A) watching (B) secing
(C) sailing (D) stopping
[62. (A) leave = (B -Fmoster”
(C) come (D) presenl
- 163. (A) correctly (B) distantly
(C) near (D) away
164. (A no {ﬂ) nexther
(C) not (D) nor
165. (A) spy (B) rely
- (C)  occupy (D) “feply
36 8BOK S
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. In Quesiton Nos. 166 te 170,
some of the seniences have
errors and some are correct.
Find out which part of a
senlence  has an  ermor  and
blacken the rectangle  [mm]
corresponding to the apprcpnate .
Jetter (A, B, C). If a seritence is

I!i!'E.'t'!E'-’T"'"

Direciions :  In question Mos. {71 w [75,
sentences  are  piven  with
blanks to be filled in with ai
appropriate  word(s).  Four
altermatives are supgested for
each question. Choose the

correct alternative out of (he

873 GK 6

free from errors, blacken the fo | indie: it
rﬁ:clang\ié’ cerresponding to (1) bi:;ékm?n( I:r{.md?c il
in the Answer Sheet, e TR SRR
 rectangle JE] in the Answer
1 Sheet.
,at many student 4
166. _""-".grb (A)
bave been declared ; sucéessful. I71: The company letme _ limeoff
have == {'B) (G) work.
. ELQL (A) ke W\ daking
o - (C] to take took
: _ oing to launch:/"
: We ar¢ 8= s
; 167, &7 (A} ' I'E'"’ usmm?x," with me.
s Eh,—gf_-%}‘}lﬁlﬂl“_‘*lr’ (A f“%::, y one agreeing
i 111L ,mxt i et /Noweror, @ that every one agrees
‘\‘L"!I X {E’} EVErY OI]L 1] agree
™% (D) that every one to agree
1 hope X 10 ;ﬂo o Sht}pp*ﬂﬁ { s wcekcnc!»gzg.
168. .
[\, (B) g; 173. __the nrain forests is very
il‘_ﬂl?_ﬁg—[l]ig—'"l _.".I.% important, 1f we do not want the ilora
(C) P‘;@ and fauna “found there 10 bcn 0me
fed @ exlmct
e : .
169, The lawye2s |1 gf 85KEC (A) Reserving  (B) Dcstroy:ng
) worﬂl lo?iﬂm_; (C) Preserving (DY Maintaining
: (B) j _ "
the matler 10 court.  No error. 174. IfThad helped him, he
" ¥ (D) i 2 “will riot be drowned: .
. (B)  would not be drawned
170, After acﬂfefu” HWESIT"EUOH; i (C)  will not have drowned
’ ['::l"‘"} (D) would not have drowned
we diSeOVereS/ ;
B e T ; i
=i }(f;'ifuusc was infested with temites: / 175. When will you hand L
that th ©) assignment ?
N-o el (A} in (B) back
—(-I—}—j“" (C) down (D) intp
B BY 2011
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5
Directions :  In Question Nos. 176 to 180, 184. Glossy
out of the four altematives, (A) dull (B) shining
n.huosg___thc one which best (C) weary (D) tired
expresses the meaning of the )
given word and mark 1t n the 185. Appropriate
- ;  DIRUEGHREL (A) dissimilar  (B) incomparable
SRR L (C) unsuitable (D) disparate,
(A)_ good ~ (B) wholegome :
(©) ”“l?md‘l’_“i“c (D) profitable Directions : In Question Nos. 136 to 190,
_ T four alternatives are given for
177. Infamy the Idiom/Phrase. Choose the
(A). notoricty (B) glory alternative  which best
(C)  integrity (D) familiarity expresses the meaning of the
) £ Idiom/Phrase and mark it 1n the
178. Intrepid . Answer Book.
© (A). hesitant " (B) fearless _' : : 51;\_'1:'--,
(C): extrovert - (D) rash - 186. adampsumb - -f'.’ ";"'—
) s (&Y rainy wea ﬁ:: d
179. Prodigal " 4 (B) adwqppomtmg resull
(A)  exclusive (B) productive (L §$g;mﬂlaundry
(C)  lavish (D) carefree .[D)O none 0f|h¢ above
"?1
180. Perspicuous l&jﬁr\ in cold blood
(A) relevant (B) precise e W (A)  angrily (B) deliberately
(C)  brief DY, cleag A (© excitedly (D) slowly
) =
Directions :  In Question blos. lSIQ(%;FETS, 188, to take someone fora nde
choOSERILC ST kUi h {A)  to give aride to someone
medning 10 the pivénaword and e
(B) to decelve someone
mark it in lhe%wﬁr Sheet. _ ik
_ (C) to be indifferent
181. Libcﬂy r_ }3 (D) to disclose a secrel
(A) serenity e
@®) slavery - - s mopshesven g serthy
SO) om0 T Tl AY 6 tase i Eartiuake
(D) subordination I (B) to try everything possible
(C) " to pray to all Gods
182. Disorderly = (D) o travel in a rocket
(A) chaotic= (B) organized !
(C) adjus{(:fj (D) arranged 190. to smell a rat
_ (A) tosmell foul’
183. Elevation (B) 1oseeamt
(A). reduction  _(B) humiliation (C) lochasearat
(C) depression (D) | debasemen! (D) 1o be suspicious

38 5731 0K 6
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Directions @ In Question Mog. 191 to 195, 194. Every Saturday 1 go out for shopping,.
sentence 15 given which / a part of (A) [orshops.
which  may need improvement. (B)  to shopping
Alternatives are given at (A), (B) and {C)  for shop
(C) below which may be a bcitr_:r (D) Mo improvement.
option. In case no improvement is
needed, your answer is (D). Blacken the 195. We had a grand p’lriy i c:uoy&:d
appropriate rectangle [E3] in the very much.
Answer Sheet. (A) We had a grand party and
‘ enjoyed very much.
191. What do jlifou for go to school ? (B) We had a grand party to enjoy
(A) For what'do you go to school ? very g
_ : ‘ (C) ,We had a grand party & id we
(B) What do you g0 [or to school ? enjoyed ourselves v lﬁj
(C) What do you go to school for ? (I3 Notmi,mvcmcql.,. 19}
(D) Noimprovement.
Directions: In Quety g‘Nnt 196 o 200,
192. He pleased the -directors and this . mli’ dhe four aliernatives,
* eompleted his report in good time. h% the one which"can be
) X : stiiwted  for  the  given
(A) :flf;‘mplt‘:izt! l[}lllid”r;::rtnu];i:;;!g?}ii 4m‘l:!._ wc:tldcﬁ;c:nu]ce and indizate it
: L : ; .y by blackening the approprinie
B :U!}U‘IL . _ .~ F:-J'% rectangle [E8] i the Answe
(13) _lc completed ill‘i Tl.:{?l'.}lfl:.l.l"l good .'-*f'%::: oot .
time  and  this pleased the& :'f
directors, % J' - 196. Aninscription on a tomb
(C) He pleased e l]ITﬁlll]ﬁj_g aaﬁ} (A) uspionage (B) epilogue
completed his r;p::r.#hi&&lm in (C)  epitaph (D) elegy
good lime. N _ L )
T P — mﬁﬁ 1 97. _F.cc_lmg inside you wh_u.:h [_eiis you whal
is right and what is wrong :
o B (A) clevemmess  (B) conscience
193. The courtiers used to tell the King how (€) consciousness (D) h:dr :
efficient an administrator he was all day .
long, : 198. !{ﬁfeasr: of a prisoner frum _]Fill Im .
. (&) The courtiers-all. day long used o 'Cﬁmi“ terms and g:ondumn :
S el the ng_ Tow efficient an -U\) Patole (B) Pavley
administrator he was. o ‘_.{Q)”'Pﬂld_on (D) Acquittal
(B tl" he courtiers used all day _long to 199. “Loss of memory.
ell the King how efficieni an S )
administrator he was. UE) _._f\_f‘[lb‘fﬂs-lﬂ {B? :\mncm.a
(C) The courtiers used to tell the King & Toonuis (B hemime
all day !(‘:-:zg how cfficicnt an 200. To struggle helplessly
adm.m!sirmor he was. (A) Flounder (B) Founder
(D) Noimprovement. (C). Fumble’ (D) Finger
3% By 3-11‘

Downloaded From: http://www.sscportal.in

873 0K &

Downloaded From http: //WWW sscportal In



http://lupscportal.com/civilservices/order-books

Order Online - www.upscportal.com

UPSCPORTAL PUBLICATIONS

Coming soon|
Code: UP16

AFFAIRS —n




